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Mo rong da thue

Tén:

4x — (5 —3x)(3x — 3)(5x + 3)

(5x — 5)(2x* + 5x— 6) + (x — 2)(3x — 3)

2x— (B +4x)(x+ 4)(5x—4)

(6x° — 2x+ 6)(2x — 6) — 2 x 6x + 1

4x — (6 — Sx)(6x — 4)(3x + 5)

Ngay thang:

(2% = 3)(5x +3) — 6 +x + 1

Sx+ (4—x)(4x— 3)(6x—4)

(6x° — 4)(2x—3) — 4 —x +2

x+ (6+x)(6x+ 1)(4x+ 3)

2x+ (5+ 6x)(6x + 5)(2x — 3)
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Mo rong da thue

4x — (5 —3x)(3x — 3)(5x + 3)
45> — 93x% + Tx + 45

(5x — 5)(2F + 5x — 6) + (x — 2)(3x — 3)
10x° + 18x> — 64x + 36

2x— (B +4x)(x+ 4)(5x—4)
—20x> = 79x> + 18x + 48

(6x2 — 2x+ 6)(2x— 6) — 2 x 6x+ 1
12x% — 40%> + 12x — 35

4x — (6 — Sx)(6x — 4)(3x + 5)
90x> — 18x% — 204x + 120

Ngay thang:

(2% = 3)(5x+3) — 67 +x + 1
106> — 14x— 8

Sx+ (4—x)(4x— 3)(6x—4)
—24x° + 130x” — 143x + 48

(62 — 4)(2x—3) — 4 —x+2
12 = 222 = 9x + 14

x+ (6+x)(6x+ 1)(4x+ 3)
24x° + 166x” + 136x + 18

2x + (5 + 6x)(6x + 5)(2x — 3)
72x° + 12%% — 128x — 75
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